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BRI K4 FE RF out in total
1 OAE 4 AFBIKRF 34 35 69
2 S 3 AFRIKRF 35 36 71
3 [E] 2 EHEKT 36 37 73
3 S 3 KEREEART 35 38 73
5 NE BX 4 KERFRASF 38 36 74
5 BEE XD 1 HHERF 38 36 74
5 =8 KT 1 AFpIRF 36 38 74
8 HO EH 3 KRFEBRAF 40 35 75
8 EA TR 3 AFpIKRF 39 36 75
8 @R ERE 4 KFRIRFE 39 36 75
8 EEa 4 AFpIKRF 37 38 75
8 W 4 KREEXRTF 36 39 75
13 wA EE 2 i e 40 36 76
13 R 1 KRFEBRAF 40 36 76
13 W B 1 BlEEEAY 39 37 76
13 KEF &< 3 HHERF 39 37 76
13 W EN 1 AFpIKRF 39 37 76
13 =A R 2 EEET S 38 38 76
13 BA F2 2 BlEEEAY 36 40 76
13 S 2 EfEEu RS 36 40 76
13 B0 BT 1 AR 36 40 76
22 BE Eonr 2 KRFEBRAF 40 37 77
22 B ERE 3 UMmEERY 39 38 77
22 RE 2 EEAXF 39 38 77
22 #E pR 4 KERFFRAS 39 38 77
22 hE P 2 i N 38 39 77
22 EEES 3 KT 37 40 77
22 AL EET 4 UaERY 36 41 77
29 K& HET 2 KERFFRAS 41 37 78
29 hi B 1 STHER 40 38 78
29 =% BB 2 KERFFRAS 40 38 78
29 #BE ¥R 1 i N 38 40 78
33 EE BT 3 TRkl AR 43 36 79
33 EEEEE 2 AFRIAF 42 37 79
33 N = 2 KERFFRAS 42 37 79
33 i e 1 KRFERAZF 41 38 79
33 S XE 3 KERFFRAS 40 39 79
33 O XW 3 KREEXTF 39 40 79
NE, BOKRKREEZEAF)ZTH., BAXTFEIL 7V EFE~OHBEAEBLE L,

33 RS 4 KFRIKRZE 38 41 79
33 BE LE 2 AFRIRF 37 42 79
41 ok il 3 FEEHKT 39 41 80
41 s TE 4 AR AY: 38 42 80
43 Al KB 4 FRHLTFRE 41 40 81
43 I STHF 2 REHKRF 41 40 81
43 Nl T 2 FEEHXF 40 41 81
43 PR FITY 3 KERFFRAS 40 41 81
43 LE 23 4 KERFBRKF 39 42 81
48 BE KA 3 AR AY 42 40 82
48 i 2AY 2 BrEE RS 40 42 82
50 Bk hh 2 REHKRF 45 38 83
50 3 3 BEAY 41 42 83
50 EERE 3 KRFRIKRFE 39 44 83
53 NI ioE 2 BRI A 44 40 84
53 HF HHY 2 EAEEAR 44 40 84
53 = 4 HERTF 44 40 84
53 KB BE 3 FHEEEAY 43 41 84
53 B 3 BEAY 41 43 84
53 BY B4TE 4 IEHAF 40 44 84
53 AN #T 4 HERTF 40 44 84
60 wA £2%F 1 EAEEAR 43 43 86
60 BE W2 1 HEKRTF 40 46 86
62 B WETF 3 KEREZEXRS 44 43 87
63 #wA 08 3 AKX 45 43 88
64 KEE EBE 3 BRIk 44 45 89
65 N BE 3 AFRIKRF 42 48 90
66 B fKF 4 BB AS 46 45 91
66 EEEED 4 R AR 45 46 91
66 NE TR 4 REEHEXF 43 48 91
69 [T 1 HEMBERS 45 47 92
69 EEE 3 Bk 43 49 92
71 e B0 3 AR 49 46 95
72 =M FEE 3 KREEXT 48 48 96
72 ) 4 R 48 48 96
74 B % 3 FEEHEXF 50 47 97




75 Sul R 4 FEBEEKRTF 51 48 99
76 EEE 3 BIFE A 51 49 100
77 BN 1 BEAKAZE 52 50 102
77 HF B 4 EEHEXT 51 51 102
79 s R4E 3 BAFE AL 49 54 103
80 A RE 2 EEHEXT 44 61 105
81 PR 2 AEHEA KT 58 52 110
82 B R4 4 RIER KT 52 63 115
83 RE Kk 2 AEHEA KT 55 64 119
RE B 2 HrEuky

RE HFE BB 4 KREEKRF
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